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2008-09 District Competition

Match #19 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Quantum chromodynamics describes how it works.  It is carried by vector gauge bosons called gluons, and acts on a very short range upon quarks, antiquarks, and gluons themselves.  Name this most powerful of the four fundamental forces.

ANSWER:
strong nuclear force

2.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Multiply the quantity (4 square root of 2 plus 5) times the quantity (8 square root of 2 minus 2).


ANSWER:  54 + 32 sq. root of 2
3.
Umbriel goes to the Cave of Spleen and gets some sighs and tears, and the warnings of Ariel are ignored. Clarissa lent the Baron a pair of scissors, enabling the Baron to commit the titular crime. Belinda has an unwanted haircut in what mock-epic by Alexander Pope?  

ANSWER: The Rape of the Lock
4.
The high school they attend was burned in November 2006. On September 20, 2007, a rally was held in their support. Jesse Rae Beard, Theo Shaw, Carwin Jones, Bryant Purvis, Robert Bailey, and Mychal Bell are what group of black Louisiana teenagers? 

ANSWER: Jena Six
5.
Roger Casement, the British consul to this territory, outlined the abuses of its government, as did Joseph Conrad’s Heart of Darkness. What personal possession of Leopold II was taken from him in 1908 by the parliament of Belgium? 

ANSWER: Belgian Congo or Congo Free State (prompt on ‘Congo’)

6.
The mead-making goat Heidrun eats from its leaves. Snorri Sturleson placed one of its roots up in Asgard among the gods. The squirrel Ratatosk runs up and down what ‘world tree’ of Norse mythology? 

ANSWER: Yggdrasil (prompt on ‘world tree’)

7.
It is a cubic crystal with a molecular mass of 58.4.  Its uses include soap and detergent production, paper production, and being a desiccant and a condiment.  Name this ionic compound also known as halite with formula NaCl.

ANSWER:
sodium chloride or table salt (prompt on ‘salt’ by itself)

8.
He calls himself a ‘misshapen bookworm,’ and detects a strange mark on his patient’s breast, deducing his patient and his wife had an affair. He wills all his money to his wife’s daughter, Pearl. Who is the husband of Hester Prynne in The Scarlet Letter. 

ANSWER: Roger Chillingworth 
9.
Severo Ochoa won a Nobel Prize for discovering how it is synthesized.  Types of it include ribosomal, transfer, and messenger.  Its bases are adenine, cytosine, guanine, and uracil.  Name this single-stranded nucleic acid that is transcribed from DNA.

ANSWER:
RNA or ribonucleic acid
10.
The unmanned RQ-4 Global Hawk will replace it, according to an announcement from Donald Rumsfeld. Its range is nearly 6,500 miles and it can fly up to 85,000 feet. When he was shot down, Francis Gary Powers was flying what high-altitude spy plane? 

ANSWER: U-2 spyplane

11.
He has 1,097 lines; only Falstaff has more lines among Shakespeare’s characters. His motive may have been ‘seeing a black ram tupping a white ewe’ or his belief his wife Emilia was unfaithful with Cassio. Who is this treacherous lieutenant of Othello? 

ANSWER: Iago
12.
This work’s title comes from a line in Act III of Othello. It was played when the composer got an honorary degree from Yale in 1905. What march by Edward Elgar has been played at thousands of school graduations?

ANSWER: Pomp and Circumstance, No. 1

13.
Its four layers are floor, understory, canopy, and emergent.  Temperate ones are found in Japan and British Columbia while better-known tropical ones are found in sub-Saharan Africa, Indonesia, and Brazil.  Name this wet ecological area filled with trees.

ANSWER:
rain forest(s)

14.
This body’s presiding officer, Michael Martin, has eschewed wearing a wig. Since 1642, the monarch may not enter its chambers. What body has 646 seats, most of which are split between the Liberal Democrat, Conservative, and Labour parties? 

ANSWER: (British) House of Commons
15.
This team, before moving in 1966, was called the Crackers. It played in Parker Field between 1966 and 1985, and then started playing at The Diamond in 1986. Tropical Storm Gaston helped scuttle plans for a new home in Shockoe Bottom, and many fans blame Mayor Doug Wilder for its departure. In 2009, this team will begin playing in Gwinnett County, Georgia. What baseball team was the AAA affiliate of Atlanta? 


ANSWER: Richmond Braves (accept either) or R-Braves
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Coming from a Yiddish word meaning ‘squeeze,’ what word means to complain habitually or gripe?


ANSWER: kvetch 
1B.
In To Kill a Mockingbird, who is the teenage girl that accuses Tom Robinson of rape?


ANSWER: Mayella Ewell
2A.
This tree whose scientific name is Cornus florida is the state tree of Virginia.

ANSWER:
flowering dogwood
2B.
What is the only English-speaking country in South America?


ANSWER: Guyana
3A.
He was Barack Obama’s opponent in a 2004 Senate race – what former Republican failed to get the Constitution Party’s nomination and is now running as an independent? 


ANSWER: Alan Keyes
3B.
Forty percent of all insect species are this bug whose types include ladybugs and scarabs.

ANSWER:
beetle
4A.
What Supreme Court case led to the doctrines of ‘clear and present danger’ and ‘shouting fire in a crowded theater’? 


ANSWER: Schenck v. United States
4B.
What soft drink, first made in Marion, Virginia, was once marketed as ‘zero proof moonshine’ and had its hillbilly theme replaced with an ‘extreme’ theme? 


ANSWER: Mountain Dew
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Raise, to the negative second power, the decimal 0.875. 


ANSWER:  64/49  or  1 15/49

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Increase the length of a square by 100% and increase the width by 50%.  By what percent do you increase the area of the figure? 


ANSWER:  200%
6A.
Who was the ruler of Egypt for both the 1956 and 1967 wars against Israel?


ANSWER: Gamal Abdel Nasser
6B.
What of Jesus’ Apostles was the tax collector?


ANSWER: Matthew
7A.
What 1915 movie, directed by D.W. Griffith, was based on the novel The Clansman? 

ANSWER: The Birth of a Nation

7B.
The Altes Museum in Berlin has a famous bust of her sculpted by Thutmose. Who was the Great Royal Wife of Akhenaten? 

ANSWER: Nefertiti (DO NOT accept ‘Nefertari’)
8A.  
What French word goes before the words de grace (dih GRAH) and d’état (day-TAH) to describe either a finishing blow or the overthrow of a government?

ANSWER: coup (KOO)

8B.
What work contains the line: ‘Control of the whole of Africa – bring the war within measurable distance of its end victory – greatest victory in human history – victory, victory, victory!’ 


ANSWER: 1984
9A.
The limited throughput between the CPU and memory is a bottleneck named for what man whose architecture combined program and data memory into a single space?


ANSWER: von Neumann bottleneck

9B.
What term describes a lens that focuses light towards a single point?

ANSWER:
converging [accept word forms; accept positive lens]

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. What is the greatest common factor of 84, 385, and 420?

ANSWER:  7
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Consider the matrix with top row of 5 and 2 and bottom row of 7 and 3. What is the inverse of that matrix, giving your answer in the order of top left, top right, bottom left, bottom right. 

ANSWER: 3, -2, -7, 5
Third period, 15 toss-ups, 10 points each

1.
This treaty gave the US a claim on the Oregon Country. It was made possible when Andrew Jackson captured two forts in the First Seminole War. What treaty, signed in 1819, redrew the northern border of New Spain and gave Florida to the United States? 

ANSWER: Adams-Onís Treaty

2.
THIS IS A 10-SECOND COMPUTATION QUESTION. One person travels at 50 miles an hour for 350 miles. Another person travels at 70 miles an hour for 455 miles. What is the time difference in the two people’s trips?


ANSWER: 30 minutes or ½ hour
3.
His unpublished works are The Passing and The Royal Murders. Richard Gere and Diane Lane will appear in the film adaptation of Nights in Rodanthe. Who is this author of A Walk to Remember, Message in a Bottle, and The Notebook? 

ANSWER: Nicholas Sparks
4.
His November 1895 experiments used a barium platinocyanide screen, Crookes tubes, and his wife’s hand.  Element 111 is named after him.  Name this German who in 1901 won the first Nobel Prize in Physics for his discovery of X-rays.

ANSWER:
Wilhelm Roentgen
5.
Sikhs believe it creates a field called a khet around a person. Hindus divide this into three types: fruit-bearing, current, and accumulated. Buddhism distinguishes it from vipaka, which is the effect. What is this concept of cause and effect in South Asian religion? 

ANSWER: karma
6.
He sent federal troops into Utah to assert federal authority and remove Brigham Young. Although he opposed Stephen Douglas, he did not support his Vice-President, John Breckinridge. The Union fell apart under what President who served from 1857 to 1861? 

ANSWER: James Buchanan
7.
Hanoi Rocks was among the first bands from this country to achieve international success. It is best-known for its heavy metal, including Nightwish, HIM, and the 2006 Eurovision winners, Lordi. What is this country whose rock music is called suomirokki? 


ANSWER: Finland

8.
Consider the sentence, ‘Their task was to boldly go where no man has gone before.’ To boldly go is what grammatical construction that is no longer considered an error?


ANSWER: split infinitive
9.
This story’s earliest versions had the title character aware of the test, which involved a special bed made with twenty mattresses and twenty featherbeds. In what Andersen fairy tale is the title character’s sleep ruined by the title legume? 

ANSWER: ‘The Princess and the Pea’

10.
Level 0 application of this has no tape or mud used. Level 5 has mud spread over the entire surface. Usually four feet wide for residential construction, it consists of paper wrapped around gypsum plaster. What is this material used to make ceilings? 

ANSWER: drywall or gypsum board or wallboard or plasterboard or Sheetrock
11.
In 2007, the presence of food colorings and gelatin would not bar this certification. Small-scale farmers use the ‘Naturally Grown’ label to mean the same thing as this USDA certification. What label is given to food that is free of synthetic chemicals? 

ANSWER: (certified) organic
12.
This movie starts when, in order to help Sam Loomis, office worker Marion Crane embezzles $40,000 and flees to California. Its most famous scene is accompanied by an all-string instrumental titled, ‘The Murder.’ A Stetson hat-wearing figure is its director appearing in a cameo. What Hitchcock movie is famous for its shower murder and for devoted son Norman Bates? 


ANSWER: Psycho

13.
This six-letter word’s origin is Latin words meaning ‘from’ and ‘wipe away.’ In genetics, it refers to a mutation where a sequence is removed from daughter cells. What word describes the act of removing something, especially from a written work? 

ANSWER: delete
14.
He was defeated at the Battles of Arsuf and Montgisard, but destroyed European forces at the Battle of Hattin. What founder of the Ayyubid dynasty united Syria and Egypt and in 1187, recaptured Jerusalem from the Crusaders? 

ANSWER: Saladin
15.
Types of them include platypelloid, anthropoid, android, and gynaecoid.  Its parts include the obturator foramen, acetabulum, and pubic arch.  Name this bone structure that consists of the ilium, ischium, and pubis located at the hips.

ANSWER:
pelvis
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
She turned to painting in 1925 as she lay in a full body cast, recovering from a bus crash. The Casa Azul that is today her museum is where she grew up in a suburb of Mexico City. What painter was noted for her marriage to Diego Rivera and for her eyebrows?

ANSWER: Frida Kahlo
2.
Named after a University of Iowa professor, they may help protect the earth from solar wind.  The outer one is 3 to 10 Earth radii above Earth, while the inner one is only 700 to 10,000 km above Earth.  Name these belts of charged particles around the Earth.

ANSWER:
Van Allen belts
3.
He runs a permanent temperature of 101 degrees. His mates in the 256th Army Air Force squadron include Nately, Hungry Joe, and Milo Minderbender. He is commanded by Major Major Major Major. Who is this protagonist of Catch-22? 

ANSWER: John Yossarian
4.
The symbol for this relationship looks like a single horizontal squiggle. A 5-12-13 triangle and a 20-48-52 triangle are this. All corresponding parts of such figures are proportional. What relationship between shapes has proportional sides and equal angles?


ANSWER:  similar
5.
It is the home to Naval Air Station Oceana and is the southern terminus of the Chesapeake Bay Bridge and Tunnel. It borders the cities of Chesapeake and Norfolk.   

What ocean-side town is the largest city in the state of Virginia? 

ANSWER: Virginia Beach, Virginia
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